MCU -> MCUH Pin HZH

MCU-A
Pin HHXI Pin No. 1/0 a5y W =
1 P/0 +5V 5V 5 MEl
j>~ 14 | PHA+ Encoder A & +
v
2 | PHA- Encoder A & -
15 | PHB+ Encoder B & +
|
3 | PHB- Encoder B & -
16 | PHC+ Encoder C & +
v
4 | PHC- Encoder C & -
17 P/0 GND Signal Ground
5 0 ACMD Analog e XI & (-10V~+10V)
-
18 0 AGND Analog Ground
INO(+LIMIT) oz A 0
6
[X0.0] (& + Limit ¥31)
@ INT(-LIMIT) o ®E 1
@ 19
@ 1X0.1] (= - Limit 221)
@ ) IN2(0RG) SERE-T- I
® 7
@ [x0.2] (5 |98 %)
0 IN3(START) Uy HE 3
20
® @ [X0.3] (START 22)
) IN4(STOP) e IE 4
3] 8
® [X0.4] (STOP 2/21)
® ® IN5(RESET) q HAE 5
21
[X0.5] (RESET 24&)
IN6(SVRDY) o FF 6
9
[x0.6] (Servo Ready &)
22 INCOM e ME Common(24V )
OUTO(BRAKE) £ HE 0
10 0
[Y0.0] = Brake ON/OFF &
0UT1(SVON) =2 FHE
23 0
[Y0.1] Servo ON/OFF &2
1 0 ouT2[Y0.2] =2 FH 2
24 0 0UT3[Y0.3] &2 H8 3
12 | OUTCOM =2 A Common(24V GND /21)
25 P/0 +24v 24V B2 MY
13 P/0 24V GND 24V £ M@ Ground
MCU-P
Pin BHXI Pin No 1/0 &5 Y L 2
1 P/0 +5V 5V 52 M@l
14 | PPA+ Pulse & CW/Pulse +
{L 2 | PPA- Pulse &2 CW/Pulse -
— 15 | PPB+ Pulse & CCW/Dir +
% i | PPB- Pulse &2 CON/Dir -
16 P/0 GND Signal Ground
4 | INO(+LIMIT) o FF 0
[X0.0] (= + Limit &)
7 INT(-LIMIT) U A 1
[X0.1] (= - Linit 94%)
s IN2(0RG) o HE 2
[X0.2] (5 |AF %)
© IN3(START) FIEEEE
e ® [X0.3] (START 2/2)
@ A IN4(STOP) o2 HE 4
% }4{5 [X0.4] (STOP 1231)
& o INS(RESET) EEEEE
@ [X0.5] (RESET 242)
@ . | IN6(SVRDY) U HH 6
@ [X0.6] (Servo Ready 2/2)
\%2@ 20 | IN7 [X0.7] EEEEE
8 | IN8 [X0.8] 2 FE 8
21 | IN9 [X0.9] o §F 9
9 | IN10[X0.A] 2 A 10
22 | IN11[X0.8B] o ®HE 11
10 | INCOM 22 ®X Common(24V )
o o OUTO(BRAKE) =2 HH 0
Y[0.0] (= Brake ON/OFF =2)
" 0 OUT1(SVON) EEREI
Y[0.1] (Servo ON/OFF &&)
24 0 ouT2 Y[0.2] £ W2
12 0 0UT3 Y[0.3] =2 X 3
25 | 0UT4 Y[0.4] &3 3 4
13 | QUTCOM =2 FA Common(24V GND &1&)

MCUH-A
Pin HiXI Pin No. 1/0 - W =
1 P/0 +5V 5V s ®E
j>~ 14 \ I PHA+ Encoder A & +
v
2 | PHA- Encoder A & -
15 \ I PHB+ Encoder B & +
|
3 | PHB- Encoder B & -
16 \ | PHC+ Encoder C & +
v
4 | PHC- Encoder C & -
17 P/0 GND Signal Ground
J$|_ s |\ o ACMD Analog 2 X (~10V~+10V)
-
18 0 AGND Analog Ground
INOC+LIMIT) HEREN0
6
[X0.0] (% + Limit 22)
Q INT(-LIMIT) EER-E-B
@ 19
@ [0.1] (= - Limit 22)
@ @ IN2(ORG) 22 FE 2
0 .|
C) _§ [X0.2] (% 2d o)
W
0 }"!im IN3(START) o MA 3
20
c ® [X0.3] (START 2121)
) IN4(STOP) o2 A 4
) 8
® [X0.4] (STOP @128)
® ® IN5(RESET) 2 A 5
21
[X0.5] (RESET 2121)
ING(SVRDY) HER-ENS
9
[X0.6] (Servo Ready &)
22 IN9[X0.9] HEREEI
OUTO(BRAKE) 22 MF 0O
_ 10 0
[Y0.0] % Brake ON/OFF &2
i
}{_ OUT1(SVON) =2 NF |
23 0
jlo [Y0.1] Servo ON/OFF &2
1 0 ouT2[Y0.2] =2 ™F 2
24 0 0UT3[Y0.3] =2 MF 3
12 0 0uT7[Y0.7] =2 ¥F 7
25 P/0 +24v o4y 221 MY
13 P/0 24V GND 24V £ M3 Ground
MCUH-P, (PE, PA EE 5¢)
Pin tHxl Pin No. 1/0 NEEE W =
1 FG FG G
14 | PPA+ Pulse Z2 Cli/Pulse +
{L 2 [ PPA- Pulse &2 CW/Pulse -
— T | PPB+ Pulse =21 CON/Dir +
% 3 | PPB- Pulse 2 OCW/Dir -
16 P/0 GND Signal Ground
. | INOCHLIMIT) EEEEK
[X0.0] (% + Limit 22)
. INT(-LIMIT) FEEER
[X0.1] (% - Linit 98)
. IN2(0RG) EEEEE
T 1X0.2] (= 28 23)
g o IN3(START) PEEEEE
3 [X0.3] (START 2121)
O 6 IN4(STOP) o= T 4
% a [X0.4] (STOP 2421)
I©) —% B IN5(RESET) EEEENR
® }45!1 [X0.5] (RESET 2121)
% B ‘ IN6(SVRDY) EEEEE
@ [X0.6] (Servo Ready 2/2)
\%)@ 20 | IN7 [X0.7] A2 HAE 7
8 | INg [X0.8] EEEEE
21 | INg [X0.9] EEEEE
9 | IN10[X0.A] o2 ME 10
22 | IN11[X0.8] EEEEERE
10 P/0 124V 24y =21 F2
3 0 OUTO(BRAKE) EEREN
— v[0.0] (= Brake ON/OFF £31)
OUT1(SVON EEEER
7% 1 0 (SVoN) = )
L Y[0.1] (Servo ON/OFF &)
| 24 0 0UT2 Y[0.2] EEEEE
s 12 0 0UT3 Y[0.3] EEEEE
25 0 0UT4 Y[0.4] EEEER
13 P/0 24V GND 24y =2 & Ground




MCU-P2 MCUH-P2

Pin HHXI Pin No. 1/0 A S g W g Pin B Pin No. 1/0 s g W =
1 P/0 +5V 5V 52 M9l 1 NC NC NC
— 0 PPA+(X) X= Pulse CW/Pulse + — |0 2 0 PPA+(X) X= Pulse CW/Pulse +
M 0 PPA-(X) X= Pulse ON/Pulse - <3 0 PPA-(X) X= Pulse ON/Pulse -
— 0 PPB+(X) XZ= Pulse COW/Dir + — [ 4 0 PPB+(X) X= Pulse COW/Dir +
k 5 0 PPB-(X) X= Pulse COW/Dir - k i 0 PPB-(X) X= Pulse OCW/Dir -
6 P/0 GND Signal Ground 6 P/0 GND Signal Ground
7 0 OUTO(BRAKE_X) [Y0.0] £2 FE 0(X= Brake ON/OFF £2) . 7 0 OUTO(BRAKE_X) [Y0.0] £ FE 0(XS Brake ON/OFF £2)
8 0 0UT1(BRAKE_Y) [Y0.1] =2 A 1(Y= Brake ON/OFF =3) x 8 0 0UT1(BRAKE_Y)[Y0.1] =2 A 1(Y= Brake ON/OFF £21)
M 9 0 OUT2(SVON_X) [Y0.2] =2t HE 2(XE Servo ON/OFF Z21) i1d 9 0 UT2(SVON_X) [Y0.2] =2 H8 2(XE Servo ON/OFF &21)
10 0 OUT3(SVON_Y) [Y0.3] =2 A 3(YE Servo ON/OFF &21) ] 10 0 OUT3(SVON_Y) [Y0.3] =2 M 3(YE Servo ON/OFF =21)
11 0 0uT4 [v0.4] =2 ¥ 4 Y 1 0 ouT4 [Y0.4] =2 I3 4
12 | 0UTCOMO =2 FA Common 0(0UTO~0UT4) 12 0 0uT13 [Y0.0] =3 3 13
13 P/0 24V GND 24V &2 M Ground 13 P/0 24V GND 24V =2 M2 Ground
14 | INO(+LIMIT_X) [X0.0] o2l A O(XE + Limit ) 14 | INO(+LIMIT_X) [X0.0] 212t MA O(XE + Limit 23)
15 | NT(-LIMIT_X)[X0.1] o2 ¥F I(XF - Limit &2) 15 | INT(-LIMIT_X)[X0.1] 3 HF 1(XF - Limit ¥)
16 | IN2(+LIMIT Y)[X0.2] o2l A 2(YE + Limit &) 16 | IN2(+LIMIT_Y) [X0.2] o2t MA 2(YE + Limit 23)
17 | IN3(+LIMIT_Y)[X0.3] o3 HF 3(YE + Limit &) 17 | IN3(+LIMIT_Y)[X0.3] 2 A 3(YE + Limit ¥)
18 | INA(ORG_X)  [X0.4] o2l HA 4(XE A o) . 18 | IN4(ORG_X)  [X0.4] 2 A 4(XE /B 4)
19 | INS(ORG_Y)  [X0.5] U A 5(YE HE o) 4 19 | INS(ORG_Y)  [X0.5] o HH 5(YE W )
M 20 | ING(START)  [X0.6] ol2f A 6(START &) }‘“—ﬁ 20 | IN6(START)  [X0.6] 22 HA B(START )
21 | IN7(STOP) _ [X0.7] o1z FA 7(STOP 23) L 21 [ IN7(STOP) _ [X0.7] o2 FA 7(STOP 22)
Dﬁﬁﬂ 22 | INS(RESET)  [X0.8] ol2! FA B(RESET &) Daaé] 22 | INB(RESET)  [X0.8] 22 HA 8(RESET )
Eﬂﬁ] 23 | IN9(SVRDY_X) [X0.9] 212t ME 9(X= Servo Ready 213) Eﬂﬂ] 23 | IN9(SVRDY_X) [X0.9] 2121 M 9(X= Servo Ready 21)
Emjﬂ 24 | INCOMO 212t FA Common 0(INO~IN9) Emjﬂ 24 [ IN22 [X1.6] o A 22
Dm]%] 25 P/0 +24V 24 B2 NP ﬂgﬁ] 25 P/0 +24V 24V B M
ED 26 P/0 15V sy 224 mel Eﬂ 26 NG NG NG
< | 27 0 PPA(Y) Y= Pulse CW/Pulse + S |\ &7 0 PPAt(Y) Y= Pulse CW/Pulse +
ﬁ e ) 0 PPA-(Y) V= Pulse Cl/Pulse - ﬁ e 28 0 PPA-(Y) V= Pulse Cli/Pulse -
ﬁ]ﬂﬂ [:_ 29 0 PPBH(Y) Y= Pulse CCN/Dir + ﬂgﬂ‘ﬂ — 29 0 PPBH(Y) Y= Pulse CCN/Dir +
ﬁ]gg 30 0 PPB-(Y) Y= Pulse COW/Dir - ﬂﬂgg L 30 0 PPB-(Y) Y= Pulse COW/Dir -
31 P/0 GND Signal Ground 31 P/0 GND Signal Ground
ﬁﬁ] 32 0 0TS [¥0.5] EEEER ﬁﬂg — | = 0 0TS 10.5] =2 HE 5
ﬁ]{% 33 0 0UT6 [Y0.6] EEEED a]ﬂgjg yra 33 0 0UT6 [v0.6] EEEER
}/ﬁ"i— 34 0 ouT? [0.7] 52 IF 7 L 34 0 ouT? [v0.7] =2 HF 7
35 0 0uT8 [Y0.8] =2 HH 8 35 0 0UT8 [Y0.8] =2 FH 8
36 0 0UT9 [Y0.9] =2 FHH 9 % 36 0 0UT9 [Y0.9] =22 3 9
37 | 0UTCOM1 =2 FA Common 1(0UT5~0UTY) 37 0 0UT 14 [Y0.E] =2 HA 14
38 P/0 24V GND 24y £3 H Ground 38 P/0 24V GND 24V £ F2 Ground
39 | INTO(SVRDY_Y)[X0.A] oiad A 10(YE Servo Ready &3) 39 | IN10(SVRDY_Y) [X0.A] 3 A 10(YS Servo Ready 22)
40 | INT1 [X0.8] o2t HA 11 40 [ INT1 [X0.8] 2 A 11
41 | INT2 [X0.C] ol ME 12 41 [ IN12 [X0.C] ol M 12
42 | IN13 [X0.0] o2 HE 13 42 [ IN13 [X0.0] 22 A 13
43 | IN14 [X0.E] ol ME 14 » 43 [ IN14 [X0.E] o2t M 14
}4{& 44 | IN15 [X0.F] o FE 15 i 44 | IN15 [X0.F] o2 FF 15
45 | IN16 [X1.0] ol ME 16 }1” 45 [ IN16 [X1.0] ol M 16
46 | INT7 [X1.1] o2t HA 17 one 46 [ INT7 [X1.1] o Y 17
47 | IN18 [X1.2] ol ME 18 47 [ IN18 [x1.2] o2t M 18
48 | IN19 [X1.3] o2 HE 19 48 [ IN19 [X1.3] 2 HE 19
49 | INCOM1 212t & Common 1(IN10~IN19) 49 | IN23 [X1.7] o2t M 23
50 P/0 +24V 24y £ N 50 P/0 +24V 24y £ MY
EXT-ENC: 2|5 &= ENCODER/MPG Connector (MCUH-A, P)
A= Connector : 51004-08/MOLEX
Pin BAX | Pin No. 1/0 M5 Y W g Pin B Xl Pin No. 1/0 M5 Y W g
1 P/0 5V GND 2|5 Encoder & 5V &3 &M@ Ground 1 P/0 5V GND 2|5 Encoder & 5V &3 & & Ground
1 1L 2 | B - 2|2 Encoder B & - (e 1L 2 | B - 2|2 Encoder B & -
o 3 | B+ 212 Encoder B & + ’g 3 | B+ 2|5 Encoder B &t +
0 - 9|2 & - 0 - = & -
e e e e e —re
+ 2|S Encoder A & + Q + 2|5 Encoder A & +
6 P/0 +5V 2|5 Encoder & 5V &3 M@ 2] 8 6 P/0 +5V 2|5 Encoder & 5V &3 M@
N 7 | ©= = Encoder C & -
- 8 | © 4 2|2 Encoder C & +
EXT-ENC: 2|5 H = ENCODER/MPG Connector (MCUH-P2)
Connector : PHDR-16VS/JST(YDH200-NNS/¥ S M X} S 27}15), Terminal : SPHD-001T-P0.5/JST
pin 84Xl | Pin No. 1/0 A S Y W g Pin Bl Xl Pin No. 1/0 N W =
1 P/0 5V GND XE 212 Encoder 8 5V £ M@ Ground 1 P/0 5V GND Encoder 8 5V £ & Ground
1 ’O 9] N\ 2 | XB - X% 2% Encoder B & - 2 P/0 5V GND Encoder & 5V &3 &M@ Ground
o = 3 | XB + X= 2|2 Encoder B & + 3 | XB - X5 2% Encoder B & -
Z - 4 | XA - X= 2I2 Encoder A & - 4 | YB - Y= 2|5 Encoder B & -
o - 5 | XA + X= 212 Encoder A & + 5] | XB + X5 2/% Encoder B & +
° 6 PlO_ |5V XZ 2% Encoder B 5V £ H# ‘ 6 I fe+ V= 9% Encoder B 4 +
o 7 P/0 5V GND YE 2|2 Encoder & 5V £ &P Ground 7 | XA - X5 2% Encoder A & -
2 N\ 8 | YB - Y= 2|2 Encoder B & - 8 | YA - Y= 2|5 Encoder A & -
o 9 | YB + Y= 2|2 Encoder B & + 9 | XA + X5 2/% Encoder A & +
12 J [5_1o \ VA - Y% 9% Encoder A & - 10 | YA + Y= 2I= Encoder A A +
- 11 | YA + Y= 2|2 Encoder A & + 11 P/0 5V Encoder 8 5V £ &M@
12 P/0 +5V YE 2% Encoder 8 5V £ M 12 FG FG Encoder & FG
13 | XC - X5 2/% Encoder C & -
14 | YC - Y= 2|2 Encoder C & -
15 | XC + X5 2% Encoder C & +
16 | YC + Y= 2|2 Encoder C & +

EXT-ENC: 2|5 H &= ENCODER/MPG Connector (MCUH-PE)
Connector : PHDR-16VS/JST(YDH200-NNS/ S H X} S #7}5), Terminal : SPHD-001T-P0.5/JST

Pin B XI Pin No. 1/0 &S H U =

1 P/0 5V GND Encoder & 5V &2 &M@ Ground

2 P/0 5V GND Encoder & 5V &2 @ Ground

3 | B - 2|5 Encoder B & -

4 | EB - 2|5 Encoder B & -

5 | XB + 2| Encoder B & +
‘ 6 I e+ /= Encoder B A +

7 | XA - 2|5 Encoder A & -

8 | EA - 2|5 Encoder A & -

9 | XA + 2|5 Encoder A & +

10 | EA + 2| Encoder A &

11 P/0 +5V Encoder & 5V £ M@

12 FG FG Encoder & FG

13 | XC - £ Encoder C & -

14 | EC - 2|S Encoder C & -

15 | XC + 2| Encoder C & +

16 | EC + 2|5 Encoder C & +




EXT-ENC: 2|5 ¥ = ENCODER/MPG Connector (MCUH-P1A)
Connector : PHDR-16VS/JST(YDH200-NNS/$ S XX} S#7}5), Terminal : SPHD-001T-P0.5/JST

Pin BHXI Pin No. 1/0 A5 9 LY 2
1 P/0 5V GND Encoder & 5V &3 &M@ Ground
2 | Al + Chanel1 Analog Input
3 | B - 2| Encoder B & -
N 4 | Al — Chanel1 Analog Ground
2[e ol 5 | B + 2| Encoder B & +
: ; 6 | A2 + Chanel2 Analog Input
- 7 | A - 2= Encoder A & -
o o 8 | A2 — Chanel2 Analog Ground
o o 9 | A + 2| Encoder A & +
0 10 | A3 + Chanel3 Analog Input
ele opm 11 Pl |sv Encoder £ 5V 52 &l
12 | A3 - Chanel3 Analog Ground
13 | C - 2| Encoder C & -
14 | A4 + Chanel4 Analog Input
15 | C + 2| Encoder C & +
16 | A4 - Chanel4 Analog Ground

MCU -> MCUH F7} 7|5 H™z|

Y3 (MCUH-XP (RIXIE ME 2H, AT 2H))

oEtHE P17(RE =7 SE)S Y32 g E of2ier 20| F™S7t - E LT

Y= £212 O|SEEZ AYEHYELR 0|5 2 Y DOG WMIFON'EH ZAEFX| 2, dPST $222 ¥
H DOG A7t OFF & W7HK| 22 A2 O|F FXA[ot1, 22 S22 AHEMEE 39 £E2 0|5 T AL
E2O|E2 RE{'C0] ZRI =T FRIStL, O] /X E fYez St

St t2E[H ZP1[M30.CIM = 741’2 ZHE L

UM =R LE T
sE

/ \/ EEEE =

- \/ AHDP LT3

24 (MCUH-XP (R|IX|E ME ZE, AT ZH))

oEtH e P17(R =7 SE)S Uz 2FoE of2fet 20| F™F 7t - E LT

Y= £212 O|SEEZ AYSHYELR 0|5F *E DOG WMIFON'EH &YX 2, dFST $222 ¥
H DOG HIM7t OFF & 7K Hioi Y2 Ol YRSt A% B HEoz AFFAEE 39 SR 0I5 &
ME E2IO|E2RHCY0] HX|Z|H FX|5tn, o] X E P22 dFeHrL,.

HEEH7}L 222 H ZP1M30.CIAZ7H1'E EHE LT

r 9
AHEP ST
=T
AY =P ET 0
l AH =P ET 3
SIEHM ON & OFF
AH A DE Cab ZHA])
PLC S& HYO| (1,2 &F 38)
DADD BE, LYy, Hp 32Bits SIAF COIE{ 2] JRAE
DSUB BHE LHy, B 32Bits HAF H0[E2] 2t
DML 24, LHE, 32Bits FA OIOIE S Sat
Loy 24, LHE, 32Bits HAAF OIOIEIS] HIAHER)
CMCD B, LY, & 32Bits HAF OIO|E{Q] HMIAHLHHAL)
DADD
@ 8e

- DINT(32Bits) GIO|E{2| Zh&h(H ) FHELICE
- DADD : X|HEl HYO|DINT(32Bits) 0| E{E £ DINT(32Bits) HIO|E = £ ¥ 0| DINT(32Bits) GO E{2f 7hA
S5t X EEl o Mg

@AHE of
- DADD LO L1 L2
- DADD L100 1 L100




®@ AIHA Y EOIY HE

P AR £ LOADP X0.0
%0.0 Y0.0 ADD MO BT A2
MO — INT  OUT — M2 oOuUT  ¥0.0
e i LOADP X001
ADD M3 1
= ADD s+ ADD M3 1 M3
%0.1
M3 — IN1T OUT |— M3
s [— TN
%0.0 I I
<0, 1 I [ | I
Y0.0
<« 1 Scan
MO | 0000 [ 1234 5678 |
b1 | 4321 ]
M2 [ P55 |
M3 L O ] 1 I 2 3 I
DSUB
@ "9

- DINT(32Bits) Gl O Ef{ Q| Zhih(4) HHEYLICH

- DSUB : X|H &l ¥ O|DINT(32Bits) HIO|E{E EMDINT(32Bits) HIO|Ef tE= £7 A O| DINT(32Bits) H|O|E{ 2 ZHAt

otof X gE Fo ML

QA of
-DSUB LO 110
-DSUB LO L1 L2

@ AlEL L EO[Y HE

=y sUB o LOADP X0.0
%0.0 ¥0.0 SUB MO M1 M2
MO — INT  OUT |— M2 OUT  ¥0.0
M1 — IN2
LOADP X0.1
SUB M3 1
Ipl SUB /+ SUB M3 1 M3
%0.1
M3 — INT OUT |— M3
1 —lIN2
%0.0 I I
%0. 1 | | I
Y0.0
«» 1 Scan
Mo | 0000 | 1234 5678 |
M1 1230 |
M2 I I
M3 | 3 I 2 [ 1 0 |




DMUL
® "o
-DINT(32Bits) CIO|EH 2| S+hZ4d) B YLICH
- DMUL : X3 &l FHO|DINT(32Bits) HIO|E{E EXDINT(32Bits) HIO|E L& £ Y| DINT(32Bits) H|IO|EHZE &4t
510 X ™El Fof| HETLICE
@AE of
- DMUL LO 100 L2
- DMUL LO L1 L2
@ AIHA U EO|Y 2E
= MUL > LOADP X0.0
0.0 Y0.0 hALIL RO BAT BAZ
MO — INT OUT — 2 ouT Y0.0
L e LOADP X0.1
hALIL M3 2
|| ML A+ RAUL R3S 2 RAZ
1 I
0.1
M3 —INT OUT }— RS
2 —1IN2
0.0 | |
=<0 1 [ [ | [ 1 |
Y0.0
-« 1 Scan
O | 0000 1111 [ 2222 |
M1 3 |
rAZ2 [ 3333 I
M3 | 2 [ 4 [ 8 [ 16 |

DDIV
@ 89
- DINT(32Bits) CllO|E{ 2] AM|4AhLt=4d, &) BEYULICH
- DDIV : X| ™l HHO|DINT(32Bits) HIO|E{ 2 EXDINT(32Bits) HIO|E == &% A 20| DINT(32Bits) C|O|E{ 2 & At
Sho Z2ntgho| &g X E FYof| MEELCE

@A of
- DDIV L0 10 L2
-DDIV LO LT L2

@ AlEA L EO[Y AHE

=y DIV L) LOADP X0.0
%<0.0 v0.0 DIV MO BT B2
MO —INT OUT |— M2 OUT  Y0.0
[ J— TN
LOADP X0.1
DIV M3 2
ol DIV /+ DIV R3 2 M3
=<0, 1
M3 — INT OUT |— M3
o L2
*<0.0 I |
=<0, 1 [ | | | |
Y0.0
<> 1 Scan
Mo 0000 | 6666 [ 09990 |
M1 | 3 |
2 I 2222 |

M3 L 16 e I [ |




DMOD
® B

- DINT(32Bits) HIO|E{Q| MIAh(Lt=4d, &) BELICE
ME YA OIDINT(32Bits) HIO|E{ S EXDINT(32Bits) GIO|E E= EH YKo

-DDIV: X|

St Zatgre

@AE O
- DMOD L0 10 L2

- DMOD LO L1 L2

52 AEE S0 MFyeuot.

=

- O

DINT(32Bits) HIO|E{ 2 K| At

® AlEA U EfOY HE

| &1 rAOD oy
1P S LOADP X0.0
xX0.0 Y¥0.0 rAOD MO BAT BAZ2
MO — N1 OUT — kA2 ouT Y0.0
AT — IN2
LOADP X0.1
MAOD M3 2
IPI MAOD 7+ MOD R3S 2 K3
0.1
A3 — INT OUT |— kA3
2 —INZ2
xX0.0 I I
X0.1 I [ | [ | I
Y0.0
< 1 Scan
Mo | 0000 [ 6666 | 9999 |
M1 10 |
M2 I 5] I
M3 [ 3 | 1 I 1 I 1 |
7| uj2fojE 2
1%59| B : P61 In-position Pulse (12345 278 A| £ A =3 2 E X 8)
2% 09| 42 : P67 In-position Pulse (12345 87 A| 53¢ HA £8 D E H8)
=g of2fo|E )
Hs | TYPE LY g
2= He HolE HE
P8O5 H,_'I§ —|_._EF xT II L = 3 N N o
S 2tE =8 | B2 HO[2 AJZHH S 41000 (9] 1000~1900)
P806 0/1 |25 Encoder @ C|AE2 0| ( D6(E6) <= Encoder & H*L58/L59)
P807 0/1 |25 Encoder Dwell Al Encoder Dwell Latch
P808 o/1 |RE=S O7t7| 2t E(Pe6)E X|IH 4= P92 HE
P8o9 | o/1 [oll<f
P810 0/1 |Scan1 THE AL Al M= 1,2 28 A M3
P811 0/1 |2% Encoder YHZt= C|AZ20| ( D3(E3) <= -359.9 ~ 359.9)
Pg12 | Y [MCUH-XA OtZ21 &3 41 (-1.000 ~ 1.000 V)
P813 0/1 |=E Encoder &2 disk MY
P814 | U4 [T CH NIAZE A CHNZ = TIdYHo = 77| A
12345 A7 Al
- LHZ= 19992 2H 13|7Y o|& 2|2 M8
123456 A7 Al
%X
P899 | XX | s 19972 =ai p
- L2 19988 22 7|0fH|
- LB 19998 22 oY HASE X




